‘[eaolfog g] / =y 3f U ‘05 / = 0ST + 05T + 05T OWewn
¢ =5 of osy "[esolfog §] ¥ = jy 3f eu ‘0Sy = 0S| + 0SL + 0S| Owewwm |
= § 3 0¥y "Z MUK | N1DOHITada owed nLIEA OWIKOW § eg "[edollog 6] G =
v of i e€ 1>oHIada eyhiow eHntar ‘[egolfog ] 0 = J ‘aunelt ‘v wodduh
egemdges | + ¥ + ¥ + y dvige 3D et eadel y ee 1doHada mfoou
9H BIfHO ‘G = | o[ 0%y *G MUK ( LOOHITadd OWED MLBWM SKOW | 080U °§

5

N ‘eaoog 0L] 101D (9 ‘[ego¥og L] AIXX (B b

‘[egoY09 9] 0£8 = 777 + 809 [odg euninnwes af ehnunyy ‘[eaokfog
£] 809 = [esoYog /] 617 - 00€ + £Z§ fodg ewmnuwes af envHelr '€

l9lefz|o]ez]o[6]z[9]6]z][9]6]
[egoirog 0Z] (Z/ZS UW) T

‘[eao¥og o L] eLAHUW
GE nied ¢ = elAHUW /| e1ed € + elAHUW g| eied 7 oeseud 3f elfeug
‘[egolog QL] eLAHUW g| 1 eled 7 owrerd0adu 3f uyoHou off (£/0S LIW) 'L

‘ediegemad AHWheH WoHL3dNHON ninoseundu asiegolioq
‘ehfam o afAxuureed 2 ufoy seukidou Henes nyead uregeHsndyy

Tadevd il




